(Pearson’s Product-Moment Correlation Coefficient)
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52 (p < .001)
-25 (p < .01)
40 (p < .001)
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(Simple Regression Analysis)
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e 343 M7 (6L 1078

**p<.01, < 001 (N = 184)

10
27 (R2=.269, pc.001)
6 (R2 = .061, p<.01)
16 (R2= 163, pc.001)
(R2 = .097, pc.001) (R2 = 072,
pc.001) (Ff=.061, p<.01)
(17 = 40, pc.001) (17 = 52, pc.001)
(3=.27, pc.001)
(/7= -31, pc.001) (17=-.25,

p<0)
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Baron & Kenny
(1986) (Hierarchical Multiple Regression Analysis)

(Saks, 1995)

(Baron & Kenny, 1986, p.1174)

(Predictor x Moderator) 3
3

Predictor \ B
e

Moderator 2 Criterion
Pre?(ictor /
Moderator

3 (Baron & Kenny, 1986)



CRITERION = @+ @PREDICTOR + “MODERATOR

CRITERION = @0+ “PREDICTOR + @MOD + ~PREDICTOR x MOD

@
PREDICTOR X MOD) 2

1 = @0+"1 + @10

2 =@+"1 +2
@ X

@

11,12 13
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1
1
001
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2
3=
Aff 0 (AF? = .000) ,
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A r2

000

F
22,0207
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P t R R Al F
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001
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0 t R P Aif

Step 1 413 24
Work Stressor () 40" 6171
Self-fficacy -257* 3776
Step 2 A6 226
i 014
Self-gfficacy -3 0769

X Self-efficacy A 139

*rk -
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001
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26,132
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17.560%**
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*<.05, #*p<0L, *p< 001 (N = 184)
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29 001

2 p = .23 Aft 0 (At?= 001)



15
P
Step 1
Hassles A
Locus - 2<%
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Self-fficacy - 20
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*p< 01, **p < 001 (N = 184)
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